ISO9001:2015 (€

MGPHriEE! |®
HSSHFSAT (020 ~2100)

PR
LRFUN, BI5
2 Mgt SRR SI58
3.MiltHERES D3R
AXEEREED
S5 SRR RERS
LA
6.RET51E
7 _EEE BT AR

fimm

 HEMERRIRS

EEA
DFFREE : 12,

1752 : 50 , iBEhihR

ﬂifﬁﬂ’* ! {ﬂi
M : SEEDHR ~ D-A93 FHELS : MGPM12-50
L+ BRI 20t s * FREEKIM 2)FFFRELLZ < 40 , {372 : 100 , ERHAR
> et B2 MHMEFFE | BIEK0.5m
%6 100 TEHELS | MGPL40-100-MT2
§ mis
TR (mm) 40 | so | &3 | s0
EFRRIK =5
ER WUEFS
M ERE ES 1.5MPa (15.3kgf/cm?)
EEERED 1.0MPa (10.2kgf/cm?)
BIRFEREN 0.12MPa (1.2kgf/cm?)
B INEE 5~+60°C
TEEE 50~500mm/s | 50~400mm/s
Zim BERE
FRAE e
i TR
DS BB/ BRRR
. TRENHHR +0.08° +0.07° +0.06° +0.05° +0.04°
SR ERNE [t +0.10° +0.09° +0.08° +0.06° +0.05°
BEEOZR(PT) M5x0.8 1/8 " 1/4 " 38"
A TSRS T SIHISOVG32,
f o=
$T4Z(mm) (TR (mm ) | muFxRs (hises)
12,16 10,20, 30,40, 50, 75, 100 S ———
20,25 20,30, 40,50, 75,100, 125, 175, 200 F273L ID-Z76L D-Z50

32,40,50, 63,80, 100

20,50,75,100, 125,150, 175,

200

D-Y59AL D-Y59BL

*chiElfT#8 (5,10, 20, 30, 35......
HUREMGPMS50-252 A

) 205, 10, 15, 20mm/ZHIER , fii0 : MGPM50-102115mm/ZH]

EEMEFFRAE RS ST X RS, SIGKEFRRIES | Ki2S-0.5m,L-3m i : D-Y59AL D-Y59AL

N

X
HL2

<

g

MXH/MXQ
P

12

DU

5

[a)

[a]

=i
-

[}

XS
GP
SQ

k4 <

2-|P116



® MGPzrEEY

HSHSEL (920~ @100 )

SHE
tE
sI

SIBfF
SIB

SQ
DNT
SC/su
scT
SCf
SL

DN
DSN
DN/DSNF§
MA
MAC
MA/MACH
MAL
MALC
MALIMACLES
SDA
Q2
TCQ2
ADN
TADN
PPRM
X
MHL2
SFE
MXH/MXQ
cP
2
cpu
™
cxs
MGP
MSQ

2-1P117

ERR-DEBEFSI

§ s minsE

J=—T

%E: TN

mAEEGRE F(N)

172 (mm)
12 MGPM 24 19 - 17 14 13 26 22 - - - -
MGPL 37 27 - 22 35 30 23 18 - - - -
16 MGPM 38 31 - 27 23 21 37 32 - - - -
MGPL 54 40 32 54 47 35 28 - - - -
2 MGPM - 49 - 43 38 35 87 75 66 59 54 49
MGPL - 58 - 48 101 90 70 58 62 54 48 43
5 MGPM - 69 - 60 54 49 116 | 100 88 79 71 65
MGPL - 82 - 68 132 118 93 77 80 70 62 55
3 MGPM - - 203 - - 164 182 159 142 127 116 106
MGPL - - 113 - - 78 130 107 130 114 101 90
40 MGPM - - 203 - - 164 182 159 142 127 116 106
MGPL - - 113 - - 78 129 106 130 114 101 90
MGPM - - 296 - - 245 273 241 216 195 179 164
>0 MGPL - - 120 - - 83 178 148 148 129 114 102
63 MGPM - - 296 - - 245 273 241 216 195 179 164
MGPL - - 117 - - 81 176 145 145 126 111 99
30 MGPM - - 352 - - 297 368 329 298 272 251 232
MGPL - - 125 - - 99 281 240 208 184 163 147
100 MGPM - - 515 - - 445 498 450 410 377 349 325
MGPL - - 138 - - 108 395 340 297 263 235 211
[0 [ 20 [ 25 30 [ 40 [ 50 | 75 [ 100 [ 125 [ 150 | 175 | 200 |
0.39 0.32 - 0.27 0.24 0.21 043 0.36 - - - -
0.78 0.66 - 0.57 0.93 0.85 0.69 0.58 - - - -
0.69 0.58 - 0.49 043 0.38 0.69 0.58 - - - -
1.23 1.06 - 0.92 1.53 140 116 0.99 - - - -
- 1.05 - 0.93 0.83 0.75 1.88 1.63 144 1.28 1.16 1.06
- 1.70 - 1.52 3.06 2.87 247 217 2.38 2.16 1.98 1.82
- 1.76 - 1.55 1.38 1.25 2.96 2.57 2.26 2.02 1.83 1.67
- 2.80 - 2.53 467 439 381 3.36 3.65 331 3.02 2.78
- - 6.35 - - 5.13 5.69 497 442 3.98 3.61 331
- - 476 - - 3.86 6.53 5.75 7.10 6.46 5.92 5.47
- - 7.00 - - 5.66 6.27 5.48 4.87 4.38 3.98 3.65
- - 5.24 - - 4.25 7.19 6.33 7.81 7.11 6.52 6.02
- - 13.0 - - 10.8 12.0 10.6 9.50 8.60 7.86 7.24
- - 7.02 - - 5.76 123 10.9 11.2 10.2 9.40 8.69
- - 14.7 - - 121 135 12.0 10.7 9.69 8.86 8.16
- - 777 - - 6.35 13.7 12.2 125 114 10.5 9.65
- - 22.0 - - 186 229 20.5 186 17.0 15.6 14.5
- - 10.3 - - 9.35 248 22.7 209 194 18.0 16.9
- - 38.8 - - 335 375 33.8 309 284 26.2 244
- - 13.6 - - 12.2 41.1 379 351 32.7 30.5 28.6

MGP# &R |®

ISO9001:2015 Ce

S TSl (920 ~0100)

g smRT

A-VYEYL

g mGp ==
/
@12~@25 — /
i
=AY
o =g
o
o
w L
_._% ............... - 3
S
[N e
= - .
= X, R
E RKxahit £
ERNNEEN JRSay AAAONET,
\ / T 4 DOBREROL
| I
 1—
Y —7
1< R
a5 @ T &
H | a
ol Ml T i-s-- e a
% T \k/ N =0 9
% H 3
! o
& {c i
; ® o
oy E] £ — O
toel U
EOT o h_ee 2.0/ J;F'—S'— A,
[Pacss 5 NN
EAFBE CHTiL J s
B4R = LE]
At

f Ro=

MGPM, MGPLR<% (@12 ~@25)

(ﬁﬁ) T2 B | C |DA|FA|FB| G |GA [GB|H HA|J K|L| MM [ML| NN |OA|OB|OL| P |PA|PB PW|Q

12 | 10203040, |42 |29 |6 |85 |26]11 |7.5(58/M4|13|13]18|M4x0.7[10|M4x0.7(43| 8 [4.5[M5x08| 13 | 8 | 18 |14

16 5075100 |46 | 33 | 8|85 30| 11 | 8 |64|M4[15|15|22| M5x0.8| 12 |M5x0.8| 4.3 | 8 |4.5|M5x0.8| 15 | 10 | 19 |16

20 53 | 37 [10[10] 6 |36|10.58.5|83|M5|18|18|24|M5x0.8| 13| M5x0.8| 5.6 |9.5[5.5| Rel/8 |12.5]10.5] 25 [18
20,30,40,50,75,100,

25 125,150,175,200 |53.5|37.5{12|10| 6 |42 |11.5] 9 |93|M5|21|21|30|M6x1.0|15|M6x1.0|/5.6|9.5|5.5| Rc1/8 [12.5|13.5/28.5(26

WA WB
IR | 100st | sbAE | LIF | ZE100st | HllE
20 40 - 15 25 -
24 44 17 27

10,20,30,40, 48122|56|41|50|37 2313135/ 3|6 | M5x0.8 |10| 5
50,75,100 54125/62|46|56|38 - - 24|13 135/ 3|6 | M5x0.8 |10| 5

| 20,30,40,50,75, 70(30|81|54(72 (44| 24 44 120 29 39 77 28| 3 |35/ 3|6 | M6x1.0 12|17
100,125,150,175,200 |78 |38(91|64|82|50| 24 44 120 29 39 77 344|453 |6| M6x1.0 (12|17

MGPM ( iBaD4E )

MGPL ( BRi% )

52 A E 12 B
(om)
12 42 60.5 8 0 18.5 12 43 55 85 6 1 13 43
16 46 64.5 10 0 18.5 16 49 65 95 8 3 19 49
20 53 84.5 12 0 315 20 63 80 104 10 10 27 51
25 53.5 85 16 0 315 25 69.5 80.5 104.5 13 16 32 51

SHE
e
sI

SIf
SIB

SQ
DNT
SC/su
scT
Neii]
sL

DN
DSN
DN/DSNH
MA
MAC
MA/MACH
MAL
MALC
MALMACLE
SDA
Q2
TCQ2
ADN
TADN
PPRM
X
MHL2
sFE
MXH/MXQ
ap
a2
cbu
™

CXs
MGP
MSQ

2-1P118



® MGP%

A=
s g sRY
s
st f mGp
SIBfF A-YYIEYL
— 232~063 XA, RAL
SIB
sQ
DNT
sc/sv || H ,%7:777'3
SCT &'{%7'@7 o
OSCH x| B : S "\\
s — b
DN -
DSN —t= EI _J_
DN/DSNit |2
MA VVZB A, HKxED
MAC -
MAL .
MALC —’;—é —— < — T
MALMACLE i | _
SDA %; | 4 ) %‘
:?;2 g 3 ' é |;7L I { 2 ik 9 Rk
ADN R I . ©—G * .
TADN ’ g B 'C
PPRM - R G -
7X XA, EAL %Adﬂ; S N DPIA XL
MHL2 C-i73
o .
MXH/MXQ
cJP
cJ2
CDU
o~ fRY=
CXS
Nee MGPM, MGPLR % ( @32~ @63 )
MSQ
59.5 112| 9 |112| M6 |24|24]34|M8x1.25 11|7.5|Rc1/8| 7
10205'152057155;0 66 120| 10 |120| M6 |27 |27]40|M8x1.25 11|7.5|Rc1/8|13
175200 | 72 148| 11 |148| M8 |32(32[46|M10x15 14| 9 |Rcl/4| 9
77 162(13.5/162|M10[39(39|58|M10xL5 14| 9 |Rcl/4|14
S WA
e
% 24 48 124 | 33 45 45| 3 |6 |M8x1.25
40 21%322755 104 48 124 | 34 46 45| 3|6 |M8x125
50 |150,175,200| 130 48 124 | 36| 48 6 | 4 |8|MI10xL5
63 130 52 128 |38 s0 6 |4 |8|mi0n5
MGPM ( iBahjHi% ) MGPL ( Bk )
DB 112 A
(mm) 55 505 TsGSTLE| ()
32 | 97 102 32 | 81 98 118 215 | 385
40 | 97 102 40 | 81 98 32
50 | 1065 | 118 50 | 93 114 42
63 | 1065 | 118 63 | 93 114 37
2-1P119

———
AL
~

=]

=

HSHSEL (920~ @100 )

ERR-DEBEFSI

MGP# &R |®

1509001:2015 C€
ST SEL (220 ~@100)

g smRYT .
SE%
e
g mGp S
SIHt
280~@100 w
A-YYERY L
Eheay EXL SQ
DNT
1 | SC/SU
= === i» scT
d 7 $ Neiis)
L T P
g st
e R 0 . DN
>'<‘ g DSN
T —é o} -
] PR O 9 m DN/DSNH
B e - yoox MA
F _—
L[ Kb | e MAC
o | NaaLExL B MAMACH
oGREmE MAL
~ revey MALC
- i 51 WA N 5 7 _—
A-TNGET, XX :‘ SDD;%;L%DL r_.L A-AMENL MAL/MACLE
@ =1 | L SDA
CcQ2
é €> [ i Q2
al | (\%j i ; o ADN
128 Ly s e e IR [ B TN
i © d ! PPRM
¥ ; E— 3 X MR
X N \AT\/ ——— o ZX
E/@ né Ek:’]>_ | MHI;
P - A | 0 T SFEE
EH MXH/MXQ
) B J r==F =5 ar
PA+TIE cE
FaFE C-712 cJ2
B E wmu
AfTEE —
TN
CXS
MGP
MSQ
rRa=
MGPM,MGPLR % ( @80~ @100 )
(ﬁﬁ) toeEE | B | C |DA|FA|FB| G |GA GB|GC|H |HA| J [JA| JB [K|L| MM |ML NN |oa|oB|oL| P |PA|PB|PW|Q
80 | 255075, |96.5]56.5|25|22]18| 915 |19 |15.5|14.5/202|M12[45.5|38| 7.5 |46 |54|M12x1.75| 30 [M12x1.75|10.6|17.5| 8 |Re3/8|14.5]25.5] 74 |52
100,125,150,
100 |70 00 | 116] 66 | 30| 25(25(1115(23| 19 | 18 |240|M14|555(45|10.5| 56|62| M1420 | 32 | M14x20 125| 20 | 8 (Re3/B[17.5(325| 89 |64
WA WB
25t | 50,75,100st | 100stBLE | 25st | 50,75,100st | 100stid £
80 | 2550,75 |174|75|198|156|180|140| 28 52 128 | 42 54 92 [100| 6 | 7 | 5 |10|M12x1.75| 24 | 28
“1100,125,150,
100 | % 500 |210/90|236|188|210|166 | 48 72 148 | 35 47 85 [124] 6| 7 | 5 |10| M14x2.0 [ 28|11
MGPM ( iBahifE ) MGPL ( ER% )
2 A o 3 z A 5
(mm) | 25,50st [ 50stiA 25,50stLAT | 50stbA E (mm) | 2550st | 75,100st |100sti k= 25,50st | 75,100st | 100stLA £
80 | 115 142 |30| 185 455 80 | 109.5 130 160 25 13 335 63.5
100 | 137 162 |36 21 46 100 | 121 147 180 30 5 31 64

2-1P120



